JENA
V/INTEC

Support Unit
Catalog

Jena-Tec, Inc.

phone: 770.926.6705
fax: 770.926.6724
tollfree: 888.4JENATEC
(888-453-6283)

Email: sales@jenatecusa.com

www.jena-tec.com



JENA Support Units
V///'TEC page 20f8

FK (8,10,12,15,20) FK (25, 30, 40) BK (8,10,12,15,17,20,25,30,40)

FF (8,10,12,15,20) FF (25, 30, 40) BF (8,10,12,15,17,20,25,30,40)

Support Unft o - sige support Fed-SisSmattnt  supportes-sice SppuetseSmal  Applicatle Screw-
H = i AppicabeModelNo. | Support Unit ID Model Na Shaft OD
and Application OnieiD () upport Unit 1D (mm) Untigicbe aft OD (mm)
Screw Diameters § BK 8 : BF 8 i
FK 8 FF 8
10 Bic 8 BFw 10, 212, @14
FK 10 FF 10
BK 12 BF 12
12 10 @ @ @
FK 12 FF 12 oot als
15 BK 15 15 BF 15 ®20
FK 15 FF15 |
17 BK 17 17 BF 17 @20, @25
20 Bi20 20 B0 @25, 928, ¥32
FK 20 FF 20
25 BK 25 25 BF 25 @36
FK 25 FF 25
30 gieey 30 e @40, P45
FK 30 FF 30
BK 40 BF 40
@
% FK 40 # FF 40 e

1.388 . 4JENATEC [1.588.483.6283]



JENA Support Units
V//ATEC page 3 of8

FK (Fixed Sided) FF (Supported Sided)

FF[8,10,12,15,20]

6 ° 0o
Ro®
FKI[25,30,40] FF[25,30,40]

@@@\ / N

. ' ' .
................
' ' ' '

1.888.4JENATEC (1.888.453.6283) www.jena-tec.com



JENA Support Units

V//ATEC page 4 of 8

Size Model Ball Bearing Axial Dynamic Load | Radia Dynamic Load | Permissible Load
P ek pe ] BKS 60822 1 607 3283 5
o8 Flange type FK8
BF8
Supported Slockitye 60627 - 2.264 -
Flange type FF8
Block BK10
Fixed Do i - 7000ADF 6,566 - 2.724
?10 Flange type FK
Block type BF10
Su pported p - 60822 = 3.283 .
Flange tyoe | T
Block BK12
Fixed peKves — 7001ADF 7.105 - 3,038
®12 Flange type
BF12
Block
Supported —1ock ype == 600022 = 4557 =
Flange type
Hlock BK15
Fixed Gclchipe e 7002ADF 7,595 - 3.989
®15 Flange type
— BF15
Su pported |—2 ok ype — 600227 . 5586 &
Flange type
_ Block type BK17
Fixed - 7203ADF 13,720 = 5,831
®17 Flange type
B BF17
S pported |2 0cK vee 620322 = 9,555 -
Flange type -
BK20 7004ADF 12,691
Figgy [—oiockype o 9.506
Siomrfnd Block type BF20 600422 a 9,359 ~
Flange tyoe | F20 620427 12,740
Block BK25
Fixed ock type = 7205A0F 20,188 = 11.466
® 25 Flange type
Supported Slocktyoe = 620527 — 14,014 =
Flange type FF25
BK30
Fiag |—iocktype s 7206A0F 28,028 2 16,268
®30 Flange type
Block BF30
T b 620627 - 19,404 »
Flange type FF30
) Block type BK40
it Fixed Fange tpe | FKA0 7208ADF 44,100 - 27,146
St Block type BF40 620877 _ 29106 N,
Flange type FF40

1.888.4JENATEC (1.888.453.6283) www.jena-tec.com



JENA Support Units
V//ATEC page S5of8

K 2-0 d1DRILL 3

‘ i C'BORE 0J DPQ
/ B

A

[Z000s[Al| | | | @

$£0.015
R

X L 1
w
¥ =
BF PART LIST
No @ @ ©)]
PART NAME HOUSING BEARING SNAP RING
Q'ty 1 1 1
Mounting Dimension
Referencel] W H S R T X K L E d3 B BRG

di J Q

BF8 | 52 | 32 | 17 [18.5( 26 | 38 | 256 | 6.6 | 11 |6.5| 20 | 10 [ 6 6 606
BF10| 60 | 39 | 22 | 26 | 30 | 46 | 34 (6.6 | 11 | 6.5 20 | 10 | 8 4 608
BF12| 60 | 43 | 25 | 30 | 30 | 46 | 34 | 6.6 [ 11 |6.5| 20 | 10 | 10 8 | 6000
BF15| 70 | 48 | 28 | 33 | 35 | 54 | 40 | 6.6 | 11 [6.5| 20 | 10 | 15 9 6002
BF17| 86 | 64 | 39 | 46 | 43 | 68 | 50 9 14 | 8.5 23 [11.5] 17 | 12 |6203
BF20| 88 | 60 | 34 | 42 | 44 | 70 | 52 9 14 | 85| 26 | 13 | 20 | 12 |6004
BF25(106 | 80 | 48 | 59 | 53 | 85 | 64 | 11 [17.5| 11 30 | 156 | 25 | 15 | 6205
BF30|128 | 89 | 51 | 63 | 64 (102 | 76 | 14 | 20 | 13 | 32 | 16 | 30 | 16 | 6206

BF40| 160 | 110 | 60 | 80 | 80 [ 130 [ 100 | 18 [ 26 |17.5]| 37 [18.5| 40 | 18 | 6208

1.888.4JENATEC (1.888.453.6283) www.jena-tec.com



JENA

Support Units

V//ATEC page 6 of 8
r 5
4@ di DRILL 3 A 0
K CBORE@J DR Q N C B c
| 1 | |
: N
A AN Al
L 7G0T 2
T .
m g
| 8 7T\ n\—Z
-+ 7 i
o ‘ |
, | 1
[A]
L I.L.I.E.\D
X = M \' L
W
_ Y,
BK PART LIST
No @ ® ® @ ® ® @
PART NAME HOUSING | BEARING | BRACKET| COLLAR | SEAL | RING NUT | SETSGREW
Q'ty 1 2 1 2 i 1
refenca W | H| s | R| T| x| K [MontngOmensin) v\ F e | el v al Bl c|N|a3| era
di| J| P°
BK8 | 52|32 | 17(185 26|38 | 25|6.6| 11| 6.5 | M8x075| 23| 11.5 5|a|7|6|6]| 8| 608
BK10| 60|39 | 22| 26| 30|46 | 34 (66| 11| 65| M10x1 [25| 6 | 13| 6 | 38| 8 | 7| 8| 10| 7000A
BK12| 60|43 | 25| 30| 30|46 | 34(66| 11|65 Mi2x1 |25| 6 |13/ 6 | 38| 8 | 7| 8| 12| 7001A
BK15| 70| 48 | 28| 33| 35|54 | 40(6.6| 11|65 Mi5x1 [27| 6 | 15| 7 | 40| 9 | 7| 8| 15| 7002A
BK17| 86|64 | 39| 46| 43|68 | 50| 9| 14|85| Mi7x1 [ 35| 8 | 19| 9 | 52|12 | 9| 10| 17| 7203A
BK20| 83|60 | 34| 42| 44|70 | 52| 9| 14| 85| M2ox1 [35] 8 |19 9 | 52|12 | 9| 10| 20| 7004A
BK25(106| 80 | 48| 50| 53|85 | 64| 11(17.8 11 [M25x15| 42| 10 | 22| 11| 62|15 | 10| 12| 25| 7205A
BK30|128| 89 | 51| 63| 64 [102] 76| 14| 20| 13 [M30ox15| 45| 11 [ 23| 12| 68|16 | 11| 12| 30| 7206A
BK40[160(110| 60 | 80| 80(130|100| 18| 26 |17.5| M40x 15| 61| 14 | 33| 15| 82|18 | 16| 14| 40| 7208A

1.BBB.4JENATEC (1.888.453.6283)

www.jena-tec.com



JENA

V//IATEC

Support Units
page 7 of 8

s 5
¢ (K -8
o= TH
@ A
\ |
S N 8l = i
= \/ | = =l @
@
@& 9l| b
S
0 e |
\\ n-@d1 DRILL L
C'BORE @J
DRQ
fig. 2—1 fig. 2—2
FF[8,10,12,15,20] FF[25,30,40]
_ Y,
FF PART LIST
No @) @) ®
PART NAME HOUSING BEARING SNAP RING
Q' ty 1 1 1
S Mounting Dimension
Referencel W | L |-p005/ K | E | X d3 B BRG
-0.015 n | di J Q| P°
FF8 | 43| 11| 28 [ 35| 6 35 4 [3.4](6.5| 4 | 90 8 6 606
FF10 | 52| 12| 34 |42 | 7 42 4 45| 8 5 90 8 i 608
fig.
FF12 |54 (15| 36 |44 | 8 [ 44| a4 |45| 8 | 5 |9 | 10 8 | 6000 | oo
FF15 (63| 17| 40 | 52| 9 50 4 15.519.5| 6 | 90 t5 9 6002
FF20 | 85| 20| 57 |68 | 14 | 70 4 16.6] 11 10 | 90 20 14 6204
FF25 (122 30| 80 | 92 | 15 [100 | 6 11 17.51 11 | 45 25 15 6205
fig.
FF30 [138| 32| 90 (106 15 | 116 | 6 1 7.5 il 545 30 16 6206 2-9
FF40 [176| 36| 120 (128 18 | 150 | 6 14 | 20 | 13 | 45 40 18 6208

1.888.4JENATEC (1.888.453.6283)

www.jena-tec.com



JENA Support Units

V//ATEC page 8 of 8

X_(PCD)
W ()
X (PCD)

|

]

|

T

|

f
Lo |
S (%)

W(#)

\\ n-@ d1 DRILL
n-@ d1 DRILL
fig. 1—1 fig. 1-2
FK[8,10,12,15,20] FK[25,30,40]
\& 7
FK PART LIST
No D) @ ©) @ ® ® @
PART NAME HOUSING | BEARING |BRACKET | COLLAR SEAL RING NUT | SETSCREW
Qty 1 2 1 2 2 1 1
S Mownting Dimensitn
Reference| W | L (o5l K | E[V | X M A| B|C|N |d3| BRG

FK8 [43 (21|28 35| 7|5 |35|4|3.4|90{M8x%0.75(30| 7 | 5| 6| 8 608
FK10 | 52 (25|34 | 42| 7|6 | 42 | 4|45|90] M10x1 (38| 8 | 7| 8 | 10 | 7000A

FK12 |54 | 25|36 | 44| 8| 6 |44 | 4|45|90| M12x1 (38| 8 | 7 | 8 | 12| 7001A f:?i
FK15 [ 63 | 27|40 | 52 (10| 7 | 50 | 4 |5.5|90| M15x1 (40| 9 | 7 | 8 | 15| 7002A
FK20 | 85|37 |57 |68|15| 7 |70 [ 4|6.6|90| M20x1 [52| 14| 7 | 10|20 | 7204A
FK25 (122 42|80 | 92 (15| 11100 6 | 11 |45|M25%1.5(62| 15| 10| 12|25 | 7205A

fig.

FK30 | 138 45|90 |106|16(12|116| 6 | 11 |45|M30X1.5(66( 16|11 | 12|30 | 7206A | 1-2

FK40 [176] 61|120(128| 19| 15| 150| 6 | 14 |45(M40x1.5|82| 18 | 16 | 14 | 40 | 7208A

1.888.4JENATEC (1.888.453.6283) www.jena-tec.com





